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Hypotheses Testing 
 

 

1-Single Mean 

 

 ( 𝑖𝑓 𝜎 𝑘𝑛𝑜𝑤𝑛 ): 

 

 
 

( 𝑖𝑓 𝜎 𝑢𝑛𝑘𝑛𝑜𝑤𝑛 ): 
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Question 1:   

 

Suppose that we are interested in estimating the true average time in seconds it takes an adult to 

open a new type of tamper-resistant aspirin bottle. It is known that the population standard 

deviation is 𝜎 = 5.71seconds. A random sample of 40 adults gave a mean of 20.6 seconds. Let 𝜇 

be the population mean, then, to test if the mean𝜇 is 21 seconds at level of significant 0.05 

(𝐻0: 𝜇 = 21 vs 𝐻𝐴: 𝜇 ≠ 21 ) then: 

 

(1) The value of the test statistic is:  

 

𝜎 = 5.71   𝑛 = 40   �̅� = 20.6 
 

 

𝑍 =
�̅� − 𝜇𝑜

𝜎 √𝑛⁄
=

20.6 − 21

5.71 √40⁄
= −0.443 

 

 

(A)  0.443        (B) - 0.012  (C) -0.443  (D) 0.012 

 

(2) The acceptance area is:  

 

𝑍𝛼
2

= 𝑍0.05
2

= 𝑍0.025 = 1.96 

 

 
 

 

(A) (-1.96, 1.96) (B) (1.96, ∞)  (C) (-∞, 1.96)  (D) (-∞, 1.645) 

 

 

(3) The decision is: 

 

(A)  Reject 𝐻0            (B) Accept 𝐻0  (C) no decision (D) None of these 
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Question 2:   

 

If the hemoglobin level of pregnant women ( مرأه حاملا ) is normally distributed, and if the 

mean and standard deviation of a sample of 25 pregnant women were �̅� = 13 (g/dl),𝑠 = 2 

(g/dl).Using 𝛼 = 0.05, to test if the average hemoglobin level for the pregnant women is 

greater than 10 (g/dl) [H0 : μ≤10 , HA: μ>10]. 

 

(1) The test statistic is: 

 

 

(A) 𝑍 =
�̅�−10

𝜎 √𝑛⁄
        (B)  𝑍 =

�̅�−10

𝑆 √𝑛⁄
           (C) 𝑡 =

�̅�−10

𝜎 √𝑛⁄
          (D) 𝑡 =

�̅�−10

𝑆 √𝑛⁄
 

 

 

(2) The value of the test statistic is: 

 

𝑠 = 2   𝑛 = 25   �̅� = 13 
 

          𝑡 =
�̅� − 𝜇𝑜

𝑆 √𝑛⁄
=  

13 − 10

2 √25⁄
= 7.5 

 

 

(A) 10                     (B) 1.5                        (C) 7.5                          (D) 37.5 

 

(3) The rejection of  H0 is  : 

 

 

𝑡1−𝛼,𝑛−1 = 𝑡0.95,24 = 1.711 

 

 
 

(A) Z< -1.645         (B) z> 1.645               (C) t < -1.711            (D) t > 1.7119 

 

(4) The decision is: 

 

(A) Reject  H0                                   (B) Do not reject (Accept)  H0 

                         (C) Accept both  H0 and  HA            (D) Reject both  H0 and  HA 
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2-Two Means: 
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Question 1:   

 

A standardized chemistry test was given to 50 girls and 75 boys. The girls made an average of 

84, while the boys made an average grade of 82. Assume the population standard deviations are 

6 and 8 for girls and boys respectively. To test the null hypothesis  against the 

alternative hypothesis  at 0.05 level of significance: 

 

(1) The standard error of  (�̅�𝟏 − �̅�𝟐) is: 

 

𝑔𝑖𝑟𝑙𝑠:     𝑛1 = 50,   �̅�1 = 84,   𝜎1 = 6 

𝑏𝑜𝑦𝑠:      𝑛2 = 75,   �̅�2 = 82,   𝜎2 = 8 
 

𝑆. 𝐸(�̅�1 − �̅�2) = √
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2
= √

62

50
+

82

75
= 1.2543 

 

(A) 0.2266                   (B)   2              (C) 1.5733            (D) 1.2543 

 

(2) The value of the test statistic is: 

 

𝑍 =
(�̅�1 − �̅�2)

√
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2

=
(84 − 82)

√62

50
+

82

75

=
2

1.2543
= 1.5945 

 

(A) -1.59                     (B) 1.59            (C) 1.25                (D) 4.21 

 

(3) The rejection region (RR) of H0 is: 

 

𝑍
1−

𝛼
2

= 𝑍
1−

0.05
2

= 𝑍0.975 = 1.645 

 

 
 

(A)  (1.645, ∞)                              (B) (−∞, −1.645 ) 

(C)    (1.96, ∞)                               (D) (−∞, −1.96 ) 

  

(4) The decision is: 

 

(A) Reject  H0                                   (B) Do not reject (Accept)  H0 

                         (C) Accept both  H0 and  HA            (D) Reject both  H0 and  HA 
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Question 2:   

 

Cortisol level determinations were made on two samples of women at childbirth. Group 1 

subjects underwent emergency cesarean section following induced labor. Group 2 subjects 

natural childbirth route following spontaneous labor. The sample sizes, mean cortisol levels, and 

standard deviations were (𝑛1 =  40, �̄�1 =  575 , 𝜎1 =  70) , (𝑛2 =  44, �̄�2 =  610 , 𝜎2 = 80 )  
If we are interested to test if the mean Cortisol level of group 1 (𝜇1 ) is less than that of group 2 

(𝜇2 ) at level 0.05 (or𝐻0: 𝜇1 ≥ 𝜇2 vs 𝐻1: 𝜇1 < 𝜇2 ), then: 

 

(1)  The value of the test statistic is:  

 

𝑍 =
(�̅�1 − �̅�2)

√
𝜎1

2

𝑛1
+

𝜎2
2

𝑛2

=
(575 − 610)

√702

40 +
802

44

= −2.138 

 

(A)  -1.326  (B) -2.138  (C) -2.576  (D) -1.432   

 

(2) Reject 𝑯𝟎  if  : 

 

𝑍𝛼 = 𝑍0.05 = −1.645 
 

 
 

 

(A)   Z >1.645            (B) T >1.98  (C) Z< -1.645           (D) T < -1.98 

 

 

(3) The decision is: 

 

 

        (A)    Reject  𝐻0          (B) Accept 𝐻0         (C) no decision        (D) none of these 
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Question 3:   

 

An experiment was conducted to compare time length (duration time in minutes) of two types of 

surgeries (A) and (B). 10 surgeries of type (A) and 8 surgeries of type (B) were performed. The 

data for both samples is shown below.  

 

Surgery type A B 

Sample size 10 8 

Sample mean 14.2 12.8 

Sample standard deviation 1.6 2.5 

 

Assume that the two random samples were independently selected from two normal populations 

with equal variances. If 𝜇𝐴 and 𝜇𝐵 are the population means of the time length of surgeries of 

type (A) and type (B), then, to test if 𝜇𝐴 is greater than 𝜇𝐵 at level of significant 0.05 
(𝐻0: 𝜇𝐴 ≤ 𝜇𝐵 vs  𝐻𝐴: 𝜇𝐴 >  𝜇𝐵) then: 

 

(4) The value of the test statistic is: 

 

𝑆𝑝2 =
𝑆1

2(𝑛1 − 1) + 𝑆2
2(𝑛2 − 1)

𝑛1 + 𝑛2 − 2
=

1.62(10 − 1) + 2.52(8 − 1)

10 + 8 − 2
= 4.174 

 

 

𝑡 =
(�̅�1 − �̅�2)

𝑆𝑝√
1
𝑛1

+
1

𝑛2

=
(14.2 − 12.8)

√4.174√ 1
10 +

1
8

= 1.44 

 

 

(A) -1.44         (B) 1.44           (C) - 0.685  (D) 0.685 

 

(5) Reject H0  if  : 

 

𝑡𝛼,𝑛1+𝑛2−2 = 𝑡0.05,10+8−2 = 𝑡0.05,16 = 1.746 

 

 
 

(A)   Z >1.645            (B) Z<-1.645             (C) T >1.746            (D) T< -1.746 

 

(6) The decision is: 

 

(A)    Reject  𝐻0          (B) Accept 𝐻0         (C) no decision           (D) none of these 
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Question 4:  

 

A researcher was interested in comparing the mean score of female students , with the 

mean score of male students  in a certain test. Assume the populations of score are normal 

with equal variances. Two independent samples gave the following results: 

 Female male 

Sample size   
Mean    
Variance    

 

Test that is there is a difference between the mean score of female students and the mean score of 

male students. 

 

(1) The hypotheses are: 

 

(A) Ho:                   (B) Ho:             (C)Ho: <            (D)Ho: ≤  

       HA:  ≠ HA: <                     HA: > HA: >  

 

(2) The value of the test statistic is: 

 

𝑆𝑝2 =
𝑆1

2(𝑛1 − 1) + 𝑆2
2(𝑛2 − 1)

𝑛1 + 𝑛2 − 2
=

15.05(4) + 20.79(6)

5 + 7 − 2
= 18.494 

 

𝑡 =
(�̅�1 − �̅�2)

𝑆𝑝√
1
𝑛1

+
1

𝑛2

=
82.63 − 80.04

√18.494√1
5

+
1
7

= 1.029 

 

 

   (A)  1.3                     (B) 1.029               (C) 0.46                        (D) 0.93 

 

(4) The acceptance region (AR) of H0 is: 

    

𝑡𝛼
2

,𝑛1+𝑛2−2
= 𝑡0.05

2
,5+7−2

= 𝑡0.025,10 = 2.228 

 

 
 

   (A) (2.2281, ∞)                                                     (B) (−∞, −2.2281)                

   (C)  (-2.228, 2.228)                                            (D) (-1.96, 1.96) 
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 Question 5:  

 

A nurse researcher wished to know if graduates of baccalaureate nursing program and graduate 

of associate degree nursing program differ with respect to mean scores on personality inventory 

at α = 0.02. A sample of 50 associate degree graduates (sample A) and a sample of 60 

baccalaureate graduates (sample B) yielded the following means and standard deviations: 

 

�̅�𝐴 = 88.12,   𝑆𝐴 = 10.5,   𝑛𝐴 = 50 

�̅�𝐵 = 83.25,   𝑆𝐵 = 11.2,   𝑛𝐵 = 60 
 

1) The hypothesis is: 

 

A) 𝐻0: 𝜇1 ≤ 𝜇2  𝑣𝑠  𝐻1: 𝜇1 > 𝜇2       B)  𝐻0: 𝜇1 ≥ 𝜇2  𝑣𝑠  𝐻1: 𝜇1 < 𝜇2 

C) 𝐻0: 𝜇1 = 𝜇2  𝑣𝑠  𝐻1: 𝜇1 ≠ 𝜇2  D) None of the above. 

 

2) The test statistic is: 

 

A) Z  B) t  C) F  D) None of the above. 

 

3) The computed value of the test statistic is: 

 

𝑆𝑝2 =
𝑆1

2(𝑛1 − 1) + 𝑆2
2(𝑛2 − 1)

𝑛1 + 𝑛2 − 2
=

10.52(50 − 1) + 11.22(60 − 1)

50 + 60 − 2
= 118.55 

 

𝑡 =
(�̅�1 − �̅�2)

𝑆𝑝√
1
𝑛1

+
1

𝑛2

=
88.12 − 83.25

√118.55√ 1
50

+
1

60

= 48.19 

 

A) 2.72   B) 1.50  C) 1.86   D) 2.35 

 

4) The critical region (rejection area) is: 

 

𝑡𝛼
2

,𝑛1+𝑛2−2
= 𝑡0.02

2
,   50+60−2

= 𝑡0.01,   108 = 

 

 
 

A)  2.60 Or -2.60    B)   2.06 Or -2.06    C)   2.33 Or - 2.33    D) 2.58 

 

5) Your decision is: 

 

A) accept & reject 𝐻0        B) accept 𝐻0       C) reject 𝐻0   D) no decision. 
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Single proportion: 
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Question 1: 

 

Toothpaste (معجون الأسنان) company claims thatmorethan75% of the dentists recommend their 

product to the patients. Suppose that 161 out of 200 dental patients reported receiving a 

recommendation for this toothpaste from their dentist. Do you suspect that the proportion is 

actually morethan75%. If we use 0.05 level of significance to test 𝐻0: 𝑃 ≤ 0.75, 𝐻𝐴: 𝑃 > 0.75, 

then: 

 

(1) The sample proportion �̂�  is: 

 

𝑛 = 200,   �̂� =
161

200
= 0.8050 

 

 

(A) 0.75             (B) 0.195  (C) 0.805  (D) 0.25 

 

(2) The value of the test statistic is: 

 

𝑍 =
�̂� − 𝑝0

√
𝑝0𝑞0

𝑛

=
0.805 − 0.75

√(0.75)(0.25)
200

= 1.7963 

 

 

(A) 1.963  (B) 1.796                      (C) -1.796                (D) -1.963 

 

 

 (3)The decision is: 

 

𝛼 = 0.05 ⇾ 𝑍1−𝛼 = 𝑍0.95 = 1.645 
 

 
 

(A) Reject H0                                      (B) Do not reject (Accept)  

(C) Accept both  and                 (D) Reject both  and  

 

 

 



12 

 

Question 2: 

 

A researcher was interested in studying the obesity (السمنة) disease in a certain population. A 

random sample of 400 people was taken from this population. It was found that 152 people in 

this sample have the obesity disease. If p is the population proportion of people who are obese. 

Then, to test if p is greater than 0.34 at level 0.05 (𝐻0: 𝑝 ≤ 0.34 vs 𝐻𝐴: 𝑝 >  0.34 ) then: 

 

(1) The value of the test statistic is: 

 

𝑛 = 400,    �̂� =
152

400
= 0.38 

 

𝑍 =
�̂� − 𝑝0

√
𝑝0𝑞0

𝑛

=
0.38 − 0.34

√0.34 × 0.66
400

= 1.69 

 

(A) 0.023         (B) 1.96                (C) 2.50  (D) 1.69 

 

(2) The P-value is  

 

𝑃 − 𝑣𝑎𝑙𝑢𝑒 = 𝑃(𝑍 > 1.96) = 1 − 𝑃(𝑍 < 1.96) = 1 − 0.9545 = 0.0455 
 

 

(A) 0.9545                  (B) 0.0910           (C) 0.0455     (D)1.909 

 

 

(3) The decision is: 

 

𝑃 − 𝑣𝑎𝑙𝑢𝑒 = 0.0455 < 0.05 
 

 

(A) Reject  𝐻0            (B) Accept 𝐻0          (C) no decision            (D) none of these 
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Two proportions: 
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Question 1: 

 

 In a first sample of 200 men, 130 said they used seat belts and a second sample of 300 women, 

150 said they used seat belts. To test the claim that men are more safety-conscious than women 

(𝐻0: 𝑝1 − 𝑝2 ≤ 0, 𝐻1: 𝑝1 − 𝑝2 > 0), at 0.05 level of significant:   

 

(1) The value of the test statistic is: 

 

𝑛1 = 200,   �̂�1 =
130

200
= 0.65            𝑛2 = 300,   �̂�2 =

150

300
= 0.5 

 

�̂� =
𝑥1 + 𝑥2

𝑛1 + 𝑛2
=

130 + 150

200 + 300
= 0.56 

 

𝑍 =
(�̂�1 − �̂�2)

√�̂��̂� (
1

𝑛1
+

1
𝑛2

)

=
(0.65 − 0.5)

√(0.56)(0.44) (
1

200 +
1

300)

= 3.31 

 

 

(A) -3.31   (B)5.96  (C)1.15  (D) 3.31 

  

(2) The decision is: 

 

𝑍1−𝛼 = 𝑍1−0.05 = 𝑍0.95 = 1.645 
 

 
 

(A) Reject 𝐻0                                       (B) Do not reject (Accept) 𝐻0 

                        (C) Accept both 𝐻0 and 𝐻𝐴                 (D) Reject both 𝐻0 and 𝐻𝐴 

 

(3) We can conclude that from confidence interval that  

 

(A) The diabetes proportions may be equal for both proportion.   

(B) The diabetes proportions may not be equal for both proportion. 
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Question 2: 

 

In a study of diabetes, the following results were obtained from samples of males and females 

between the ages of 20 and 75. Male sample size is 300 of whom 129 are diabetes patients, and 

female sample size is 200 of whom 50 are diabetes patients. If 𝑃𝑀, 𝑃𝐹 are the diabetes 

proportions in both populations and �̂�𝑀, �̂�𝐹 are the sample proportions, then: 

A researcher claims that the Proportion of diabetes patients is found to be more in males than in 

female (𝐻0:  𝑃𝑀 − 𝑃𝐹 ≤ 0 vs 𝐻𝐴: 𝑃𝑀 − 𝑃𝐹 > 0)  . Do you agree with his claim, take α = 0.10  

 

(1) The pooled proportion  is:  

 

�̂� =
𝑥𝑚 + 𝑥𝑓

𝑛𝑚 + 𝑛𝑓
=

129 + 50

300 + 200
= 0.358 

 

 

     (A) 0.43   (B) 0.18   (C) 0.358      (D) 0.68 

 

 

(2) The value of the test statistic is: 

 

 

𝑍 =
(�̂�1 − �̂�2)

√�̂��̂� (
1
𝑛1

+
1

𝑛2
)

=
(0.43 − 0.25)

√(0.358)(1 − 0.358) (
1

300 +
1

200)

= 0.411 

 

  

           (A)  -4.74   (B) 4.74   (C) 4.11     (D) - 4.11   

 

 

(3) The decision is: 

 

𝑍
1−

𝛼
2

= 𝑍
1−

0.05
2

= 𝑍0.975 = 1.96 

 

 
 

 

(A) Agree with the claim     (B) do not agree with the claim            (C) Can’t say       
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